
Addition de Coeurs Doux (C)
Quelle est la valeur de chaque doux coeur?

946 + % = 1600 ` + 829 = 1071

507 + ) = 1091 . + 938 = 1612

862 + ( = 1654 < + 322 = 1240

682 + $ = 1434 ? + 752 = 1056

208 + _ = 319 - + 821 = 1799

568 + # = 788 > + 726 = 1598

246 + * = 688 , + 380 = 760

808 + + = 1696 ~ + 782 = 949

541 + ^ = 1443 = + 117 = 482

118 + & = 313 / + 827 = 1018
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Addition de Coeurs Doux (C) Réponses
Quelle est la valeur de chaque doux coeur?

946 + 654 = 1600 242 + 829 = 1071

507 + 584 = 1091 674 + 938 = 1612

862 + 792 = 1654 918 + 322 = 1240

682 + 752 = 1434 304 + 752 = 1056

208 + 111 = 319 978 + 821 = 1799

568 + 220 = 788 872 + 726 = 1598

246 + 442 = 688 380 + 380 = 760

808 + 888 = 1696 167 + 782 = 949

541 + 902 = 1443 365 + 117 = 482

118 + 195 = 313 191 + 827 = 1018
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